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Using three rectangles and midpoints, the area under the

graph of f(z) =z +cosz from z =0 to = 7 is estimated  g5x
as e o oL N S,

L
7o C;__—Pr ’,T/B ;31\\_ A

(@) 5 AX = 7§A§ = Pl ]

(b)ﬂ; A=K %+ML+%+ML+2—+MJ—

© % - {28+ o- 2]

(d)%3 o A0 e R _75_3

o -3 - .

2
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5. The value of the integral /—7r//3 (z tan 2* + 2%) dz is
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6. In the figure shown, regions A and B are bounded by the
graph of a function f and the z-axis. If the area of region
Ais 6 and the area of the region B is g, then
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7. X[ f(@)dz =3, [ f(e)de =4end [ fz)dz =3,
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integral /_ : f(z) dx by interpreting in terms of area(s).
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led 1+XYon® =0 .Than

@ 15 }e@—ad@: L .
a —_—
4 oamd o6 = U= 1
1 o = 7Vq_ = UL - X
®) 1 2
-+ i % - ut - &4- L
15 1 = S v-d\u v e
(©) - ) !
2
d Ll - E
(d) - A
13
(e) 1
12.  The area of the region enclosed by the curves y = z? — 2z Y :)3 -2 X
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13.  The volume of the solid obtained by rotating the region
bounded by the curves y = z? and z = y? about y = 1 is
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14.  The volume of the solid obtained by rotating the region
enclosed by the curves y = 2z, y = 2 about z-axis is
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15.  Consider a solid with a circular base of radius 1. Parallel
cross-sections perpendicular to the base are squares. The
volume of the solid is
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17.  The area of the region bounded by the curves
m
y:COS$7y=Sin2$,x=0andx=§ is
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18.  The volume of the solid obtained by rotating the region
bounded by the curves y = /2,y = 2z — 1 and y = 0
about y—axis is
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19. A particle moves along a line such that the velocity at time
t (seconds) is v(t) = cos t (meters per seconds). Find the
total distance travelled during 0 <t < 2.
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